Classifying Reactions and Name:

Balancing Chemical Equations Date:

Instructions: Balance the following equations, indicating the state of each product and classify each

reaction as:
C = combustion SD = single displacement
S = synthesis DD = double displacement
D = decomposition
Reaction
Type
L. Cug + O = CuOg
2. Al + HClg = ___AICL + H,
3 W(Nm);gp 04{3@ + e ZI}CIz(aq) e — an(P 04)2 + NH4CI
4, Hg{g} + Clggg) - ___ HCl
S, Snggs) -3 MSb + WHQ
6. AgN()g(aq} + m[{‘zs@g (ag) —> WAgZSOA + W_WP{N()g
7. ,mcaCOg(g) -> CaO + — COQ
8. F%(S) + NMCY(N()g)g(aq) -3 MFe (NO?,)Q + w__MCI'
9. _ Na,CO; + ___HzPO, —~> ___NasPO, + _ H,CO,

10. As + O, — __AsO4

11. H0qp -  H, + 0,

2. PhOyy — _ PbO + 0,

13, CiHy(g) t_ Olg) > HO + _CO,

14 Mgy + ___HNOjs4q > _ MgNOsy), + H,
15, Oy — O

6. MOy —» _ 0+ 0,

Write a word equation and a balanced chemical equation for each of the following:

. When sodium is heated in gaseous chlorine, table salt (sodium chloride) is produced.




o
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When calcium oxide is added to nitric acid, calcium nitrate and water are formed

Aluminum can be produced, along with water, by bubbling hydrogen gas through a mash of
aluminum oxide.

[n the upper atmosphere, ammonium sulfate particles are formed by the reaction of ammonia,
sulfur trioxide and water.

One kind of rocket fuel (BsHy) burns to produce boron oxide and water vapour.
(Hints: What does burn mean? Assume boron acts as a metal with a 3+ charge to form boron..
oxide)




